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K =k HA T

4

X — 1027 +24x =0

X=X —6x=0

8x° — 103x% +364x—245=0

X — 18x% + 104x— 192 = 0

X+ —1lx—12=0

H #A:

8x> + 33x% — 147x+ 98 = 0

106° — 79x% — 117x+ 162 =0

©+2¢-3x=0

X =177 +2x =0

X —2¢—15x=0
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K =k HA T

X — 1027 +24x =0
x=6,4,0

X=X —6x=0

x=3,-2,0

8> — 103x% + 364x — 245 =0
7

-, 7,5
8

x:

X — 18%% + 104x— 192 = 0
x=28,6,4

X+ —1lx—12=0
x=—4,3,—1

H #A:

2
=

8 + 33> — 147x+ 98 =0
7

x=-=,-7,2
8

106° — 792 — 117x+ 162 =0

9
x=—,9,-2
10
©+2¢-3x=0
x=1,-3,0

X =177 +2x =0
x=28,9,0

X —2¢—15x=0
x=-3,5,0
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